
Time: 10 Minutes Paper Math 4 Total Marks: 10

4th  Month, 2nd Week, 4th Day Syllabus: Unit 4: Exercise − No. 3 Q No. 4

Q.No.1.  The mass of  apples is 38.9 kg and mass of guava is 42.6 kg. Find the

difference between mass of apples and guava: (5)

³³³³¤¤¤¤////ZZZZxxxxììììXXXX,,,,VVVVZZZZzzzzggggZZZZ%%%%zzzzŠŠŠŠzzzzVVVVÆÆÆÆzzzziiiiyyyy~~~~����ÛÛÛÛtttt 42.6 ³³³³¤¤¤¤////ZZZZxxxxZZZZzzzzggggZZZZ%%%%zzzzŠŠŠŠzzzzVVVV»»»»zzzziiiiyyyy 38.9 ,,,,VVVV»»»»zzzziiiiyyyy   ::::1 ÎÎÎÎZZZZwwww����

¥¥¥¥xxxx™™™™,,,,

Q.No.2.   The mass of apples is 38.9 kg and mass of guava is 42.6 kg. Find the

total mass: (5)
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